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QUESTION 1

Which OSPFv3 LSA type is similar in function to the OSPFv2 Type 3 LSA?
A. Link

B. Intra-Area Prefix

C. Inter-Area Prefix

D. Inter-Area Router

Correct Answer: C

QUESTION 2

Click the exhibit button.

Exhibit 4.6.9

“A:R3I=configrrouters ospfd show router route-tabile
Foute Tsble {Router: Base)

Dest Prefix Type Proto  Age Pref
Mext Hop[Interface Namg] Metric
000,040 Remote OSP:  OOhOOM23s 1€
10131 i) |

[ BRc R ) Local Local ©5d10hOom ©
toRl 0

10.10.10,3/32 Local Locsl Q144dogh @
sysiem 0

No. of Routas: 3

"A:R2# show router route-table 192.168.0.0416 longer:
Route Table {Router: Bass)

N N RO N O S S e T R SEoEEan RS

Dest Prafin Type Proto  Age Pref
Next Hoplinterface Name] Metric
19218800/ 24 Local Local 01ho9mdds 0
toop1 i

192,168 2.0/24 Local Local 01hoSmdis O
logp2 o

T92166.3.0/24 Local Local otho9m4ds O
loopd 0

192,168 4,0/24 Local Logal 01h09rm40s O
lisoa 0

Mo, of Rautes: 4

Given the topology and the show commands, and assuming that router R2 advertises all of its loopbacks into OSPF,
what is the correct router R1 configuration?
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A TAR1zconfigerouter=ospf# info

area 0000
interface "toR2"
interface-type point-to-point
exit
el
area 0001
nssa
originate-default-route
no summaries
exil
Interface "toR3"
interface-type point-to-point
exit
et

*AR1=config=router=ospf#

B. T"AR1=config=router=ospf# info

area 0000
interface "toR2"
interface-type point-to-point
exit
exit
area 0.0.01
nssa
originate-default-route
exit
interface "toR3"
interface-type point-to-point
exit
exit

*A R 1=>config=router>ospfi

A R1>config=router>ospi# info

area 0000
interface "toR2"
interface-type point-to-point
et
et
area 0001
area-range 192.165.0.0/16 advertise
interface "toR3"
interface-type point-to-point
exit
et

*A R 1>config=router>ospf#

*A R 1=config=router=ospfit info
area 0.000
area-range 192.168.0 0/16 advertise
interface "toR2"
interface-type point-to-point
enat
endt
area 0001
Interface "toR3"
interface-type point-to-point
et
endt

*A R1=config=router=ospf#

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: A

QUESTION 3

Select the answer below that correctly lists the 5 different OSPF packet types.

A. Hello, Link State Update, Link State Packet, Link State Acknowledgement, Database Descriptor
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B. Link State Update, Link State Refresh, Link State Acknowledgement, Database Descriptor, Notification
C. Hello, Link State Refresh, Link State Update, Link State Acknowledgement, Link State Authentication
D. Hello, Link State Update, Link State Request, Link State Acknowledgement, Database Descriptor

Correct Answer: D

QUESTION 4

Which of the following statements best describes an OSPF type 3 LSA?

A. An OSPF type 3 LSA is an intra-area LSA, generated by the ABR only when route summarization is configured.

B. An OSPF type 3 LSA is an inter-area LSA, generated by the ABR only when route summarization is configured.

C. An OSPF type 3 LSA is an inter-area LSA, generated by an ASBR to describe external routes.

D. An OSPF type 3 LSA is an inter-area LSA, generated by the ABR to describe a route to neighbors outside the area.

Correct Answer: D

QUESTION 5

Click on the exhibit.

RS

192 168.3.0124’}

_.-_!‘Ju__,/'jl

R3 R4

OSPF is operational on all links in the network diagram, all links have the same cost and all routers are configured with
an ECMP value of 4. Router R4 advertises the prefix 192.168.3.0/24 into OSPF.
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How many entries for prefix 192.168.3.0/24 will be | n router R1\\'s routing table?
A0
B.1
C.2
D.3
E. 4

Correct Answer: B
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